|6. An acute-angled isosceles triangle has
two of its sides equal to 10 and 16.

Find the area of this triangle.
¢ |0 19 uH FYA FUT FACAEG DA A
| 16 ar sramst #Y wwarE 1073 16 ¥
50 o[ #1 aiawe w1 A
LS 16 a) V231 units b) 1266 units
«— 10— c)24 units  _g#f5v231 units
A5 6
e 7m0 303 ovien
A Obtuse
X ALY X




7. In an isosceles triangle ABC with
1‘\ AB = AC and AD is perpendicular to
A E?D'; AG u)—_\g / BC, if AD = 6 cm and the perimeter
of AABC is 36 cm, then the area of
- AABC is:

/$\0 6 T @AGHAag ST ABC # AB =

AC 3T AD] BC ¥ we ¥, 3R
- AD = 6 cm 3R AABC &1 9R&TT
B € D 7 ( 36cm @ a AABCH &T6d ¢
—x — a) 45 cm? /ﬁw cm?

c) 54 cm? d) 64 cm?
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74 / (8.ABC is an isosceles triangle
C

A - A inscribed in a circle. If AB =
"qz' AC = 125 and BC = 24 cm
then radius of circle is
EX mBc Pl ga H  3ifeka
IS [sw2 424 wageg  Beor ¥, 4R
. AB = AC = 125 d9T BC =
SR BNZ oo 24 @ ¥ @ g & Aew
——MU— T gl ?
K=\5 a)10 cm )ﬁlScm
c)12cm d) 14 cm
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19.The radius of the incircle of a
triangle is 4 cm and the segments
into which one side is divided by
the point of contact are 6 cm and
8 cm. Determine the perimeter of
the triangle.
et ﬁﬁﬂi $r ea:ASAT 4cm
¥ ud 3H PAoer Y el
e qe & TR g @ & s
6cm SﬁT 8cm H ¥ Srdr 2

Brsger &1 aR@ATT gar W
a) 39 42
c) 56 d) 49




20.In the AABC, the base BC is trisected at D
and E. The line through D, parallel to AB,
meets AC at F and the line through E parallel
to AC meets AB at G. if EG and DF intersect at
H, then what is the ratio of the sum of the
area of parallelogram AGHF and the area of
the ADHE to the area of the AABC?

et AABC #, 3muR BC Regat o 3t e w e
WW#WWH AB & WA &
D ¥ g It arell 3@T HSTAC Y Rg F W
CH AT Wg E & grel

A

g 6 ™ %|3111TEG3$IT
fig H W yfaedfea #a@ & &t
T GHF 3R T8 ADHE &
mmsﬁgaﬁtﬁamAABca?mwm
mmgﬁr?

ay M ) F

| DSSSB JE CE 30 Oct 2019 S3 | 5




2|. Three sides of a triangle are

a~b= | . "’J/ vaz+ b%, \/(2a)? + b? and
ﬁ E J_é— &% ﬁ’\/ a? + (2b)? units. What is the
/

/ area (in unit squares) of the
triangle? .
LEJENEL C D IO Y

s Js Jaz + b2, J2a)? +b? 3R

oM, - | Ja? + (2b)? s#$ § Feger
3\0&%\ = _}_ﬁ B mg? (@t gwE H)
- 2 ferctent
}z — J— a)gab b) 3ab
%z% ¢) 4ab ﬂ%ab
p

| | 6
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22. If in the following figure (not to
D scale), ~DAB + 2CBA = 90°,
BC = AD, AB =20cm,
CD = 10 cm then the area of
the quadrilateral ABCD is:
afg foet ampfa & (79 &
HTER A& §), <DAB+
£2CBA =90°, BC = AD,
AB =20 cm Ik cp=
10 cm% o IS ABCD T
aTh &
a) 120 cm? b) 150 cm?
c) 100 cm? dﬂ 75 cm?
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_[[,Nﬂwd'- D

oA ABD= gk ABE+ @A CED
- __'Z<ba+ bz+bc +ac) c / 10
= J.?_x IS0=15 720 &r
0%+ (_L=_l 00 = >
A 20

> S \6d
HY+b 2ok
b Ct2@ = Yoo

=
?((b?'_" Qb'\'b(-{-(&) =2 IS
0
—
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Practice questions:

G4s) (quour)
GSiz13) (1), 6061)
G225) (12,3527)
5(3,15‘,)7) @olﬂj

D —_—



22 The area of a triangular field whose sides are
‘43 55 7?’) hzfg_ 96 m, 110 m, and 146 m is equal to the area
/b of a rectangular park whose sides are in the
o= Axb 2'—‘37‘-' ratio 3 : 2. What is the perimeter (in m) of the
6 55 oem . 110m 3 146m e
2 m, m m

/al(%#e—,?b’%x,z PR Ae T ST, 3§ HIAHR
9% F SARd & e} ¥, forwedr st
bJjss=% WWBZ%IWQT%W

qRAT (HeX #) AT B

~ a) 80+/5 40+/55
10¢=Yo [55° c) 20V55 {fwx/ﬁ

(34,5), (5,12,13), (7,24, 2 %,kC ( *)9)
Ca,uo,u), (i, 60, 61) , C:z %S, o;r) (zo (28,us,53), (33, 56, 65), (39 80,87)
(13,84, 8%, (15, n2,03), (16 63 65), (20,94, l01), (4353, 73) (65,7297), Cas 77, 85)
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2Y.The perimeter of a right triangle is 60 cm
and its hypotenuse is 26 cm. What is the
area (in cm?) of the triangle ?

farelt waIoT Preger &1 aR#ATT 60cm B
3 zHHE FF 26cm @ Prgsr &1
TP (m? H) AT R

a) 60 b) 96 c) 90 éﬂ?izo
l<35£{:\\é£fi\\

—y

WY
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) 25.The sides of a triangular field are 96 m,
yg 55"{6 110 m and 146 m. The cost of levelling the
l< / 2 AT field at 35.60 per m? is:
tF PSR A fr e 96m
110m 3R 146m ¥l AT F 35.60 YA

28 m? 9 WHAA FA AT AR AT H
| 6x || )zj 56 a) 330,564 b) X31,680
}xq xNP xBs, c) X28,224 A1%29,568
g’
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26.The area of a triangular field whose sides
are 96 m, 110 m and 146 m is equal to the
¢ area of a rectangular park whose sides are

%
167 ZAT in the ratio 10: 11. The length of the
Ys longer side of the park isT™ |0 X, 1%

1 xaexHo-= 0w xhx 9% m, 110 m 3R 146 m HT FTW

P ResemeR  dAeT  F SAGd, 39
HIAHER U F SFFT F e ¥
U= forwehr samait 1 AT 10:11  §
Wﬁaﬁmaﬁrmmﬁl
=Wy 44/3 m b) 33 m
x Mf*% c)55m d)33vV3 m




5 (.'2/ ?’6/ %7)\> AT

B’ Z
,2_,ZX BEx1F5 = 2t |0x

5
63%=2p

27.The area of a triangular field with

sides 60 m, 175 m and 185 m is
equal to that of a rectangular park
whose sides are in the ratio of 21 :
10. The perimeter (in m) of the
parkis:

60 m, 175 m 3T 185 m STATHT
arer ﬁraﬁrmr AT F1 TE,
3W HIAHER U & ATRT H
WX ¢ o aamaﬁ a;r
Je[ard 21: 10 1l

gftATT (m &) 7 ETTI

a) 340 b) 403
c) 372 310

|SSC MTS, 26 Oct 2021, Sﬁ 4



23.The area of a triangular park with sides

Q(@Q‘QO' 80‘)2 > PAT 78 m,160 m and 178 m is equal to the

area of a rectangular garden whose sides
are in the ratio of 13 : 12. The smaller side

% l’, (in m) of the gardaefgs .
L x 78 m, 160 m 178 m 8T
/;(X}X%LGO Hox A2 femer Age @ TP, 39
HAAEHR 36 & AThd & T §
2o = oY sromt @1 Ierud 13:12 @
S H DA s ] AEEE (m H)
_ AT FY
R 24Jio a) 265 /{24@
c) 12vV10 d) 13V5




9. The area of a triangular field whose sides
@ arg@Sm, 72m, and 97m)is equal to the

Aa of a rectangular park whose sides are

26
__I_ )(,6%()2: /8/7('/%/" QAT intheratio of 5: 13. What is the perimeter
}'

(in m) of the rectangular park?

65m, 72m 3 97m e ICIER CICON

=5 6 =% Ao FT ATEA, I IAATFR ITH F
a%'arqreréia?ra?%% mwﬂ
- o Fqud  5:13 g 3IAAdSR Gl
2(E13x)= 36x=Q16 T 8 o |
a) 108 b) 180
A 216 d) 144

16
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20.The hypotenuse of a right-angled
triangle is 39 cocm and the
difference between the other two
side is 21 cm. The area of this

x2%=29
triangle is:
3 mw Prrsr &1 #0139
g A & 3R T @ semsit @
‘ ‘2 AT 21 ¥
g7

| ar, s &
x%(fx 1S a%aw
Q| a) 360 cm? ﬁ70 cm?
=270 c) 280 cm? d) 540 cm?




2. 70 sticks each of unit length are combined
to form a right angle triangle _without

X breaking any stick. What is the area/(in
(%,(4,6> 12 square units) of the triangle? |
$HIS Fals are 70 oS3 TRl £

(Si2,13)30 AT R TH GASIT B S &
» 4 ﬁ?@ Eniﬁzigszfﬂﬁﬁ? %%Eﬂ fsrer &1
< aTh ( ) F49T &7
(_h 2\1| Zs)é a uou) 210 b) 180
MO x  ¢)240 d) 350
lzl %S{S‘] X 3’\(105(2\

i,




A
A
% A
B C y 3

2
SRC-aCthee) SBCE ARk




22. The unequal side of an isosceles
triangle is 2cm . The medians

\ drawn to the equal sides are
perpendicular . The area of the

z 2
Z AB +AC A
sec= A
5 /
D

SxUY-Ja € O_ triangleis:
%}Z/ & gHAGTAATE XTST Y AT S7aT
J—qu / \' 2 ¥ & Wamrsﬁ%f%m
! RN % APt wwaq
8 5 C e &1 &% §:
a)2cm 3 cm?
c) 5 cm? d) 1 cm?
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23_If one side of a triangle is 7 with its
-||] perimeter equal to 18, and area
equal to v108, then the other two
sides are:

afg ww P i s 7 § 3
sHHT IRAT 18, 3R aFwd
V108 & X g, a9 37

3T g
a)6and5 b) 3.5and 7.5
c)7and 4 3and 8
-x‘f)(_‘l ﬁ
=7 K-2= 6 5> |

%K=§3

| SSC CHSL, 18 Mar 2020 S1 | 21



3Y. What is the cost (in Rs.) of levelling a

S 28 (49\5 EAT X triangular park with sides 60 m, 112 m and
) 164 m at the rate of Rs.10.50 per m??

¥ 1050 wfad m? O : |

60m 112m 3 164m ST aTel

RSEHR U H FHAST IS P AT
) 7 I
Jﬂf X% | = Bx9 X'Q"‘ém,ms b) 21,067

_X 21,000 d) 20,160

| SSC CHSL 04 Aug 2021 S3| 22



25, The difference between the semi-

P perimeter and the sides of APQR are
SGo= |8 18cm,17cm and 25cm  respectively.
b Find the area of the triangle.
b= |7 * APQR % 314 - uRe™ 3k s=msit & &=
ST AT HAA: 18cm, 17cm 3}}? 25cm
S-¢=25 e &1 dwe wa HfS|
Q c R a)330V510cm? b)230vV510cm?
35-(O+b+c>-_60 _A30vV510cm?  d) 130vV510cm?
_— 7
23 S= a4bt( J 3(s-a)
~ 2 @'*’XS'C)
“.) S: (o)
= Jeox XA3x Tx15~

=5 X6 ISI 0
| CPO 2022 S3, 11 Nov 2022 | 23
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